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c.

.'i'fud,rle-l
Explain the classification rignaJ#ifu les.

Sketch even and odd part offifial shown in

,-** tot

(08 Marks)

(04 Marks)

(06 Marks)

(06 Marks)

,,t"'tfu". '\
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c. Determine whether the followi
fundamental period. ,i, '

-(i) x(t) = l0cos.r/21 .

(ii) x(n)=Gt)F:
j

**ryd*
Explain the opffiions on signa
Let x(t) and y(t) are
(i) x({)&({-l)
(ii) *(*)y(-t - t)
(iii) . x(t - 1)v(-t)

..?

?, a-

b. given irl,ffiB,Q2 (b), draw the following signals :

..., ,',,,''' 
'..,.1

Check whether fo$9flng system

(r) Linet{ffinon-linear
(ii) Ca*$iil or non-causal

Fig. Q2 (b)

y(t) = x(t2) :

(iii) Time invariant or time variant.
(iv)...;: Static or dynamic

', .'::a t" I of3

Time: 3 hrs. ,.1,,,.,
.ro MaX.Marks: 80

$fu'. 
*t * 

"w*r,i,br,,6:

Note: Answer any FIVEfull questions, cffiiffig ONEfull questionfrfu each module.

-r;

(04 Nlarks)



c.

t1EC44
kModule-2 ,.r#dfl

Derive an expression for convolution sum. .,,-..;je{S (04 Marks)
A LTI system has the impulse response given UV Hftil: u(n)-u(n-3). Determine the

output of the given system input x(n) =2-n, 0 < i&d3 . Using convolution sum. Show the

details of your computation. Sketch all the sequffilbg. (07 Marks)
Consider a continuous time LTI system witli' unif impulse response. 

.,h(t) 
= u(t) and input

x(t; = e-"'u(t) ; a > 0. Find the output y(t&frhe systern ,"& .stu (05 Marks)
*--r* \' "

' .:!r tlR
Consider a LTI system with inp.p( i.F]= 2'x(-n) and uni1.gl1pulse response h(n) : u(n).

Compute convolution sum and pQtuqnl. -" (07 Marks)
Prove convolution propertier*, . ,' (09 Marks)

ur'%# 
* 

Module-3 "fuConsider the intercoffidn of four LTI syster4sqp depicted in Fig. Q5 (a). The impulse
response of the ?rylgifi" are h, (n) = u(n), hln)'= u(n + 2) - u(n), hr(n) = 6(n - 2) and

4a.

b.

5a.
J Module-3

Consider the i idn of four LTI s

ho(n) = cr"u(n). Furd the impulse ) of the overall system.

r/u:,hln)

,.,itiiiliiiii::littril

b. For each of the follory,in$ impulse resp

memory less, causal a-nd stable. Justiff
(,) h(t) =u(t.S}ffi1t-t;
(ii) h(t) = e-z(rl-.

Fie. Q6 (b)
2 of3

(09 Marks)

(iv) Convolution
(04 Marks)

Fig.Q6 (b) and sketch the

Time scaling

(07 Marks)
ine whether the corresponding system isnine whethq the corresponding system is

rs. 
, .,,";

(12 Marks)
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a.

b.

c.

a.

b.

&j,t

Find the FT of the Rectangular puh.ry ,-,
State and prove the time scaringproperty and rrequgqffi property.
Find the Fourier transtransform of x(t) = err,ult; *"1,

.,ft;,
lJate and prove (i) lT, ln1ft 

p:op.nv '*.h;ifrerentiation proffiy
Find DTFT of signal x(n) givin Uy"..it*l=u(n)_u(n_N) whEibX

-js%
'*Q $rbaure-s ,;e"

Explain the properries of the Rffie ef- f5*'
Find the z-transform of the mu,r*ng signar using properties

/t\'.- u I r I(') x(n)=nl ;J utnl*14(n)-1atn-r)l\?j-=.'t., 2 rq"

(iD ,.(,),*#ffi(,,_(i)',(_";k u

J -,!!i, f

tsBC44

(04 Marks)
(08 Marks)
(04 Marks)

(07 Marks)
is any integer.

(09 Marks)

(08 Marks)

(08 Marks)

a.

b.

ifr'g x(z) :

;E*x*Hs*
* 1i.

'ogrFt "
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